fmmm AT B S AN EX

B8 1F, %R ST1, fLE: P001-1 [B:42,Y5:121], B E: 96.1 cm, #&=: 16, #IR: 26, BH H: 26, #E&K: 793.7455

cm

#4 LiniRA-EEE m A= (793.75++[BIF R ELA]37*2) [HEE](Int(96.1/15)+1)/100= 60.74 M

#4 © i BEA-E B ) Bl = (B8 (A $2 78](96. 1 +[HE R+ #Ldh+A1](15+18.3)*1)*[HEE](Int((793.7455/20)+1)/100= 51.75 M

#4 TiniRf-EEE m A= (793.75++[BIF R ELd]37*2) [HEE](Int(96.1/15)+1)/100= 60.74 M

#4 T i 2h -4 B ¥ 0 B = [EE (A4 78(96. 1 +[HE {1+ #Ldh+A1](15+18.3)*1)*[HEE](Int((793.7455/20)+1)/100= 56.44 M

EARETE:
MR (JK#E) = 793.75*96.1/10000= 7.63 M2
HERR(IL4E) = 96.1%16*26/10000= 4.00 M2

AR (8 -51883i28)= 793.75*15*1/10000= 1.19 M2
(

HERR (25 32 - E838 ) = (16%26/2)*26*1/10000= 0.54 M2

ERR_/NET = 7.63+4.00+1.19+0.54+0.00= 13.36 M2
RCFTE:

RC(RR) = 793.7455*96.1*15/1000000= 1.144 M3

RC(PE#E) = (16*26/2)*96.1*26/1000000= 0.520 M3

Mt E AR
#4=229.678 M (229.678 M*0.994/1000= 0.2283 T)
AR/ NET =0.2283 T
HERR/NET = 13.36 M2
SR /NET = 1.664 M3
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